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fEATH B 202146 29 H
HAERK Y771 oN% 3G

A EE  fE b6kg  HHFE 54kg
B4 20005 1 7005 H 4005 H 2005 H 1005 H
HERE 2021456 26 H
HiENE 5 4 M | s | R % FTALE S
® 1 T T A—D ¥ 3 | BBE | K Bl 13,120,000
® 1 N AR B3 S | Rt Bl 12,180,000
3 Ja—na ) 3 [ NAE | HFR Al 27,865,000
4 JaT )L B3 | RHEA | G Al 25,225,000
5 7 —)LRU T 3 [ BEHR | M A2 15,550,000
6 Jalt— 3 [ =Rk | KOE A2 15,175,000
7 TUTVIAT B3 | AR TR B1 13,140,000
8 YT INTET g3 [ EREE | KJE Bl 12,170,000
9 Vo J~\TFIL A 3 | JERYE | KIF B2 10,665,000
10 AT FAX— B3 | fEAKE KIE B2 10,400,000
11 HEI—=INT 4 — 3 | mEE | KIE B2 9,668,000
12 INAIR—=H Y g3 | EREE| KIE B2 9,530,000
13 A==V B3 | mEAKE | KOt B2 9,390,000
14 ML —T 3 | @ | K B2 8,830,000
15 AR 3 | JERYE ] KIF B2 8,755,000
16 T A AR )L 3 R | KIE B2 8,740,000
17 FxL T RAT — 3 | RIFE | S B2 8,595,000
18 AT 4— LA R— A 3 AR KIE B2 8,345,000
19 TV ARV —F 3 | EREE| KIE B2 8,260,000
20 FaTdy=—7 #-3 [ I FZ2 | fihE B3 7,770,000
21 FRT L EUNR— H 3 | AE | Ik B3 7,445,000
22 FTA—)TLR—=D g3 [ ANAE | TR B3 7,380,000
23 V=4 $t 3 M%E | Kt B3 7,360,000
24 VoI A a7 3 | EEE | S B3 7,310,000
25 FEUTF— T F 3 [ aARFE | )IG B3 7,095,000
26 ay—a X7 3 | ETH| KIF B3 7,080,000
27 SOy o — )L g3 | EREE| KIE B3 7,030,000
28 —IR Az~ AL B3 | EARE IR B3 7,005,000
29 oA 77— 3 [ FEEN] K B3 6,908,000
30 XTHARY v3 | EEE| K B3 6,610,000
31 Xy ALy g3 | ERTE | M B3 6,510,000
32 B —b U AT B3 EHR | s B3 6,115,000
33 VT 4 F—)L 3 [ BAE] Kt B3 5,875,000
34 ~aHF T H— B3| BN O KIF B3 5,810,000
35 F—Ly A 3[R KIF B3 5,700,000
36 7T 4—FK #-3 | HHw | KIE B3 5,535,000
37 7y —F = 3| B KR B3 5,525,000
38 vl —RNTT 3 [ k] KIE B3 5,350,000
39 N)Fo2—n 3 | AR | KIE B3 5,240,000
40 TTT 3 [ HEE] KIE B3 5,095,000
41 Ca—ANHF T~ -3 [ AAE | Wi B3 5,000,000
42 aoa A% B3 [ EREE|] KIH 3%, 4,735,000
43 T HNV)F ¥ —F g3 | ABRFE|] KIE 3k 4,685,000
44 B 7507 B3 [ AAE | Wi 3%, 4,560,000
45 T AANET —F 3 [ ERE] IhE 3k 4,495,000
16 OAFE RS 3 | FEM KIF 3% 4,445,000
47 B — g — A — 3 | BRA—| KIF RY 4,200,000
48 <Xy Bt 3 G | KIF 3%, 4,020,000
49 v 77T — 3 | EmEFE| Kt 35k, 3,885,000
50 T4 TR B3 | BRHEE | KJF 3%, 3,760,000
51 Fa—RJA 3 | EEE] O KIF RY 3,710,000
52 A= AINT YT 3| R G RY 3,680,000
53 ~ 7T H L —F% 3 | OHREE | NG 3% 3,105,000
54 XEL XA 3 [ EEN] O KIE 3k 2,915,000
55 T =TT T A 4 3 EEIEESIE 3% 2,190,000
56 E—F 2 —F R 3 | EEE ] KRIF BT 1,810,000
57 Ry A 7 NTT 3 | EEE| K RY 1,280,000




